
TEST	ESERCITAZIONE		
	
	

1. 	Indicare	quale	composto	può	formare	legami	idrogeno	con	l’acqua.	
	

(1)	C6H6;	(2)	CH3CH2OCH2CH3.	
	
A	 1	=	Sì;	2	=	Sì.	 	 	 	 	 B	 1	=	Sì;	2	=	No.	
C	 1	=	No;	2	=	Sì.		 	 	 	 D	 1	=	No;	2	=	No.	

2. 	Indicare	quale	solvente	è	polare.	
	

(1)	Acetonitrile;	(2)	Toluene.	
	
A	 1	=	Sì;	2	=	Sì.	 	 	 	 	 B	 1	=	Sì;	2	=	No.	
C	 1	=	No;	2	=	Sì.		 	 	 	 D	 1	=	No;	2	=	No.	

3. 	Indicare	quale	composto	può	formare	legami	idrogeno	con	l’acqua.	
	

(1)	Acido	acetico;	(2)	Formaldeide.	
	
A	 1	=	Sì;	2	=	Sì.	 	 	 	 	 B	 1	=	Sì;	2	=	No.	
C	 1	=	No;	2	=	Sì.		 	 	 	 D	 1	=	No;	2	=	No.	

4. 	Indicare	se,	in	ciascuna	coppia,	i	composti	sono	stati	messi	nell’ordine	di	punto	
d’ebollizione	corretto.	
	

(1)	CH3CH2CH2CH2CO2H	>	CH3OCH3;	(2)	H2O	>	CH3OCH3.	
	
A	 1 = Sě; 2 = Sě.     B	 1	=	Sì;	2	=	No.	
C	 1	=	No;	2	=	Sì.		 	 	 	 D	 1	=	No;	2	=	No.	

5. 	Indicare	se,	in	ciascuna	coppia,	i	composti	sono	stati	messi	nell’ordine	di	punto	
d’ebollizione	corretto.	
	

(1)	H2O	>	CH3CHO;	(2)	H2O	>	CH3OCH3.	
	
A	 1	=	Sì;	2	=	Sì.	 	 	 	 	 B	 1	=	Sì;	2	=	No.	
C	 1	=	No;	2	=	Sì.		 	 	 	 D	 1	=	No;	2	=	No.	

	


